ACCESSOIRES MAT - MAST ACCESSORIES

Side winch pad

support de winch latéral

U UPPOR DE WINCH WINCH PAD

SIDE WINCH PAD / SUPPORT DE WINCH LATERAL

Part number Mast section | Thickness Dimensions

Référence Section mat (mm) (mm)
49017511643 | S67 4 80 x 90
P | asorzsmiess | 051 100 100
REEFING WINCH PAD / SUPPORT DE WINCH DE PRISE DE RIS 49017511663 | 2520 S365E, 5 120 x 120
Part number | Mast section | Thickness Dimensions 49017512503 | S400-S510 5 140 x 140
Référence (mm) (mm) 49011980383 | S560E 4 135 x 140
29027512263 | 567 3 80 x 80 49017512523 | 5622 6 140 x 140
49027511553 | S137 A 100 x 100 49011980143 | S760E 5 160 x 160
49027511563 | 5180 4 100 x 100 49017519803 | SP80E 6 200 x 210
49027511573 | $260-S400 4 100x 115 49017511683 | 51170 6 160 x 165
49027511583 | S330-S510 5 120x 115 S830 - S1060 -
49027511603 S622**-S830 . 130 % 130 49011980613 2}‘21]2&5-515319554(-) 8 190 x 190
S1395 - S1060
49027511613 | 51210 % 130 x 135 49017519803 | SP80E 6 200 x 210
49017511693 | S1630 6 200 x 210
49027511623 | S1170 - S1540 6 135 x 150 19011980533 S1980E -52100 o 230 x 230
49027511633 | S1630- S2100 5 150 x 160 S3410 - S3800E X
49011980373* | S3410 8 200 x 200
* Welded winch pad / support mécano soudé Assemb|y / Monfqge :
PLAQUE ANTI-CORROSION POUR PLATINE DE WINCH
Part number / Référence Dimensions Rivets Mé screws / Vis M6
29512000001 110x110
29512000002 130x130
29512000003 150x140
29512000004 160x160
29512000005 200x200

Complete with fixations / Complet avec fixations
Length | Cleat only | Assembly

Long_ quuet seul Mast sections Part number Monl‘qge
Profils de mat Référence

ref. 40722160023

> $510/S560E included/inclus  |40722130040| M5 crimped nuts /écrous & sertir M5
$622/S760E included/inclus >  |40722130045| M5 screws /vis M5
$622 > S760E included/inclus  |40722160024| Mé crimped nuts/écrous d sertir M6
$830/S980E included/inclus > | 40722160026| M6 screws / vis Mé
210 |40722210023| $830/S980E included/inclus > |40722210025| M6 screws / vis Mé

130 (40722130043

170 (40722160023

OIN UR U '
Clutch only Rope diameter & max. working load Assembly
Coinceur seul | Diamétres cordage & charges de travail maxi | Montage
2 8mm 400 kg
40715600701 > 10mm 600 kg M6 scrows
40715601201 212mm 900 kg vis M6
o 14mm 1050 kg

InteLnal reinforcement lli”/ for assembly on profiles
(with @ 4.8 countersunk rivets)

333D0000115 Kit renfort interne, pour assemblage sur profils
(avec rivets 4.8 téte fraisée)

www.spcrcrcft.com /45



